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SA-EFH - SA(SAH) - MREAY - BES Ol &+ 9K I8N BlusZ
EEEEE 5,674,171 5,639,972 34,199
= 1,573,883 1,577,183 /3,300
p 351,786 349,457 2,329
= 2,869 2,869 0
= 914,569 903, 186 11,383
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= 1,573,883 1,577,183 3,300
p 351,786 349,457 2,329
= 2,869 2,869 0
= 914,569 903, 186 11,383
= 2,440,034 2,416,247 23,787
y-o| BAAZMHIA RIB 605,659 565,659 40,000
BNEMC WEHS ® 602, 109 562, 109 40,000
307 SI2t0lH 550,930 510,930 40,000
SEEEEEET] 550,930 510,930 40,000
0oz 306,630 266,630 40,000
o YptojorE g 160,000,000% 160,000 120,000 40,000
AYSTAY 2435t 431,436 421,436 10,000
p 62,760 58,760 4,000
= 31,380 29,380 2,000
= 337,296 333,296 4,000
S22l Ar 48,900 40,900 8,000
p 24,450 20,450 4,000
< 12,225 10,225 2,000
= 12,225 10,225 2,000
101 eIt 21,160 18,100 3,060
p 10,580 9,050 1,530
3 5,290 4,525 765
= 5,290 4,525 765
0 JI2AH2EENSES 21,160 18,100 3,060
OSHALA 2121t 19,560,000%! 19,560 16,500 3,060
p] 9,780 8,250 1,530
< 4,890 4,125 765
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[ia 4,890 4,125
307 QIZ2told 13,720 8,780
Il 6,860 4,390
= 3,430 2,195
= 3,430 2,195
01 2A=2¥¢+ 13,720 8,780
O=seZ2d 13,720,000 13,720 8,780
Il 6,860 4,390
& 3,430 2,195
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LESALY 266,316 264,316
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307 Q20N 1,439 1,230 209
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01 Q23224 0 1,230 N 1,230
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= 984 0 984
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= 18,300 24,600 6,300
== 8,650 0 8,650
= 9,650 24,600 A 14,950
101 o12H| 4,900 9,000 A4,100
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== 1,225 0 1,225
= 1,225 4,500 N3,275
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2 600 1,500 A900
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201 Ler2 Yyl 11,450 1,950 A500
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= 18,750 24,440 A5,690
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37,500 48,880 11,380
< 18,750 24,440 A5,690
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78,760 77,760 1,000
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